
Time: 10 Minutes Paper G-Science 6 Total Marks: 10

1st Month, 4th Week, 1st Day Syllabus: Unit # 2: Artificial vegetative

propagation to layering

Q.No.1 Encircle the correct answer from the following choices. (0.563)


i. Which of the following is an example of artificial propagation?

 







(a) Bulb  (b) Runner  (c) Cutting  (d) Tuber 
ii. Which technique is used to grow sugarcane?


(a) Budding  (b) Layering  (c) Cutting  (d) Graffing 
iii. In which technique, roots grow in the soil from the covered part of the

branch? 
(a) Cutting  (b) Layering  (c) Tuber  (d) Graffing 
iv. The attached stem with the roots is called: 
(a) Node  (b) Bud  (c) Layer  (d) Scion 
v. Which plant can be grown using cutting technique?


(a) Bougainvillea  (b) Mango 
(c) Rose  (d) Both a & b  b  a

vi. Buds on the underground part of the cutting grow into:


(a) Stems  (b) Leaves  (c) Roots  (d) Branches 
Q.No.2. Write short answers. (224) 
(i) What are formed on the arial part of cutting?  


(ii) What is cutting?  
Q.No.3. Write long answer. (3) 
(i) Write a note on layering. 
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